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Eight persons viz. A, B, C, D, E, F, G and H were born on eight 
consecutive years starting from 2003 to 2010, but not 
necessarily in the same order. The consecutive alphabetically 
named persons don’t born consecutively.
G was born in a leap year. Only four persons were born between 
G and D Who was born immediately before F. The number of 
persons born before F is the same as the number of persons 
born after A. Only two persons were born between A and B.

आठ व्यक्ति अर्थाि। A, B, C, D, E, F, G और H कथ जन्म 2003 से 2010 िक लगथिथर आठ वर्षों में
हुआ र्थ, लेककन जरूरी नहीीं कक इसी क्रम में हो। लगथिथर वर्थानुक्रम में नथममि व्यक्ति लगथिथर
पैदथ नहीीं होिे हैं।
G कथ जन्म एक लीप वर्षा में हुआ र्थ। G और D के बीच केवल चथर व्यक्ति पैदथ हुए रे्, जो F से ठीक
पहले पैदथ हुए रे्। F से पहले पैदथ हुए व्यक्तियों की सींख्यथ A के बथद पैदथ हुए व्यक्तियों की सींख्यथ
के समथन है। A और B के बीच केवल दो व्यक्ति पैदथ हुए रे्।
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Eight persons viz. A, B, C, D, E, F, 
G and H were born on eight 
consecutive years starting from 
2003 to 2010, but not 
necessarily in the same order. 
The consecutive alphabetically 
named persons don’t born 
consecutively.
G was born in a leap year. Only 
four persons were born between 
G and D Who was born 
immediately before F. The 
number of persons born before F 
is the same as the number of 
persons born after A. Only two 
persons were born between A 
and B.
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Who among the following person was 
born in 2005? ननम्नमलखिि में से ककस 
व्यक्ति कथ जन्म 2005 में हुआ र्थ?
A.E
B.F
C.C
D.H
E.Cannot be determined

How many persons were born between B and C?
B और C के बीच ककिने व्यक्ति पैदथ हुए रे्?
A.One
B.Two
C.Three
D.More than three
E.None

If all the persons were born in alphabetical order, 
then how many persons remain unchanged in their 
positions?
यदद सभी व्यक्तियों कथ जन्म वर्थानुक्रम में हुआ है, िो 
ककिने व्यक्ति अपने स्र्थन पर अपररवनिाि रहिे हैं?
A.One
B.Two
C.Three
D.More than three
E.None

Who among the following person was born two 
persons before G? ननम्नमलखिि में से कौन G से पहले 
दो व्यक्तियों कथ जन्म हुआ र्थ?
A.E
B.B
C.F
D.No such person
E.None of these
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Eight persons A, B, C, D, E, F, G and H are sitting in a straight line and facing north. Their
ages are i.e. 18, 23, 25, 26, 30, 34, 37 and 40, not necessarily in the same order.
Note: Their heights are different and in decreasing order from the left end to right end i.e.

It means the one who is at the left end is the tallest and the one who is at the right end is
the shortest person.
G is 3rd tallest and youngest in the group. E is 2nd to the left of H. E is not neighbor of G.
Only one person is taller to B. Only two persons are elder to A. Two persons are sitting
between A and D. D is taller to A but not neighbor of G. The difference of age between A
and C is 8 years. H is taller to F but shorter to C. The number of persons is sitting between
C and the one who is 25 years old is same as E and the one who is 40 years old. H is not
the eldest person. H is elder to A. The one who is shortest in the group is 30 years old.

आठ व्यक्ति A, B, C, D, E, F, G और H एक सीधी रेिथ में उत्तर कीओर उन्मुि होकर बैठे हैं। उनकीआयु अर्थाि 18, 23, 25, 
26, 30, 34, 37 और 40 है, आवश्यक नहीीं इसी क्रम में हो।
नोट: उनकी ऊीं चथई अलग-अलग हैऔर बथएीं छोर से दथएीं छोर िक घटिे क्रम में है यथनी इसकथ मिलब है कक जो बथएीं छोर पर है
वह सबसे लींबथ है और जो दथएीं छोर पर है वह सबसे छोटथ व्यक्ति है। G समूह में िीसरथ सबसे लींबथ और सबसे छोटथ है। E, H के
बथएीं से दसूरे स्र्थन पर है। E, G कथ पडोसी नहीीं है। केवल एक व्यक्ति B से लींबथ है। A से केवल दो व्यक्ति बडे हैं। A और D के
बीच दो व्यक्ति बैठे हैं। D, A से लींबथ है, लेककन उसकथ पडोसी नहीीं है। G. A और C कीआयु कथ अींिर 8 वर्षा है। H, F से लींबथ है
लेककन C से छोटथ है। C और 25 वर्षा के व्यक्ति के बीच बैठे व्यक्तियों की सींख्यथ E और 40 वर्षा के व्यक्ति के समथन है। H सबसे
बडथ व्यक्ति नहीीं है। H, A से बडथ है। समूह में सबसे छोटथ व्यक्ति 30 वर्षा कथ है।
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Eight persons A, B, C, D, E, F, G and H are
sitting in a straight line and facing north. Their
ages are i.e. 18, 23, 25, 26, 30, 34, 37 and 40,
not necessarily in the same order.
Note: Their heights are different and in

decreasing order from the left end to right end
i.e. It means the one who is at the left end is
the tallest and the one who is at the right end
is the shortest person.
G is 3rd tallest and youngest in the group. E is
2nd to the left of H. E is not neighbor of G. Only
one person is taller to B. Only two persons are
elder to A. Two persons are sitting between A
and D. D is taller to A but not neighbor of G.
The difference of age between A and C is 8
years. H is taller to F but shorter to C. The
number of persons is sitting between C and
the one who is 25 years old is same as E and
the one who is 40 years old. H is not the
eldest person. H is elder to A. The one who is
shortest in the group is 30 years old.
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Who among the following is the tallest person in the 
group?
ननम्नमलखिि में से कौन समूह में सबसे लींबथ व्यक्ति है?
1.A
2.C
3.D
4.B
5.H

How many persons are elder to H?
ननम्नमलखिि में से कौन 26 वर्षा कथ है?
1.0
2.1
3.2
4.3
5.4

Who among the following is 26 years old?
ननम्नमलखिि में से कौन 26 वर्षा कथ है?
1.C
2.A
3.D
4.E
5.H

Who among the following is 26 years old?
ननम्नमलखिि में से कौन 26 वर्षा कथ है?
1.C
2.A
3.D
4.E
5.H
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Mahesh starts walking from A towards south direction for 2 km to 
reach point B. Then he takes a left turn and walks 4 km till C. From 
C he takes a left turn walks for2 km towards D. From D he takes a 
right turn and walks 6km till E. Finally, he moves towards north-
east direction at an angle of 450and walks for 7 km till point F.
महेश बबींद ुB पर पहुींचने के मलए A से दक्षिर् ददशथ की ओर 2 ककमी चलनथ शुरू करिथ है। किर 
वह बथएीं मडुिथ है और C िक 4 ककमी चलिथ है। C से वह बथएीं मडुिथ है और D की ओर 2 
ककमी चलिथ है। D से वह दथएीं मडुिथ है और E िक 6 ककमी चलिथ है। अींि में, वह 450 के 
कोर् पर उत्तर-पूवा ददशथ की ओर बढ़िथ है और बबींद ुF िक 7 ककमी चलिथ है।
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What is the shortest distance between C and E?
C और E के मध्य न्यूनिम दरूी ककिनी है?
a) 10√2 km
b) 5√2 km
c) 3 km
d) 2√10 km
e) None of these

How far and in which direction is point A from E?
बब ींदु A, E से ककिनी दरू और ककस ददशथ में है?
a) 17km, west
b) 10km, east
c) 10km, west
d) 2km north
e) None of these

Mahesh house is 10km north-west at an angle of 450 of
point E then what is the distance between Mahesh house
and Point C?
महेश कथ घर 10 ककमी उत्तर-पक्श्चम में बब ींदु E के 450 के कोर्
पर है िो महेश घर और बबींदु C के बीच की दरूी तयथ है?
a) 10km
b) 12km
c) 8km
d) Can’t be determined
e) None of theseA

B C

D

E

F
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In a class of 45, where girls are twice that of boys, Rakesh ranked fourteenth
from the top, if there are 10 girls ahead of Rakesh. How many boys are after
him in rank?
45 की एक किथ में, जहथाँ लडककयथाँ लडकों से दगुनुी हैं, रथकेश ऊपर से चौदहवें स्र्थन
पर है, यदद रथकेश से 10 लडककयथाँ आगे हैं। उसके बथद रैंक में ककिने लडके हैं?
a) 12
b) 09
c) 10
d) 11
e) None of these
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How many letters are there in between the letters of the word “SKYBAGS” as
many as are there in alphabetical series (both backward and forward)?
शब्द “SKYBAGS” के अिरों के बीच उिने ही अिर हैं क्जिने कक वर्ामथलथ श्रींिलथ
(पपछडे और आगे दोनों) में हैं?
a) none
b) one
c) three
d) two
e) None of these
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Statements:
A few of my friends are teachers.
Teachers are rude.
Some rude persons are good at heart.

Conclusions:
I. A few of my friends are good at heart.
II. Some rude persons may not be teachers.

Statements:
Only a few Pink are Yellow 
Only a few yellow are Red 
Only a few Red are White 

Conclusions: 
I) Some White are Pink is a possibility 
II) All White are Yellow

कर्न:
मेरे कुछ ममत्र मशिक हैं।
मशिकअसभ्य हैं।
कुछ असभ्य व्यक्ति ददल के अच्छे होिे हैं।

ननष्कर्षा:
I. मेरे कुछ दोस्ि ददल के अच्छे हैं।
द्पविीय. कुछ असभ्य व्यक्ति मशिक नहीीं हो सकिे हैं।

कर्न:
केवल कुछ पपींक येलो हैं
केवल कुछ येलो रेड हैं
केवल कुछ रेड व्हथइट हैं

ननष्कर्षा:
कुछ सिेद के गुलथबी होने की सींभथवनथ है
सभी सिेद पीले हैं
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Statements:
Only a few Pink are Yellow 
Only a few yellow are Red 
Only a few Red are White 

Conclusions: 
I) All Red being Yellow is a possibility 
II) Some Red Can never be Pink

कर्न:
केवल कुछ पपींक येलो हैं
केवल कुछ येलो रेड हैं
केवल कुछ रेड व्हथइट हैं

ननष्कर्षा:
सभी रेड के येलो होने की सींभथवनथ है
कुछ रेड कभी पपींक नहीीं हो सकिे
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Eight persons are working in a company with different grade position such as CEO, MD, GM, 
DGM, Senior Manager, Manager, Assistant Manager and Clerk. Their positions are given in 
descending order, such as CEO as the highest position and Clerk as the lowest position. B is 
a manager. Two persons are hold a position between A and B. More than four person are 
hold a position between C and H. As many person senior to C is same as that of junior to D 
who is junior to H. E is junior to F and senior to G. G is not clerk

सीईओ, एमडी, जीएम, डीजीएम, वररष्ठ प्रबींधक, प्रबींधक, सहथयक प्रबींधकऔर तलका जसेै पवमभन्न
गे्रड पदों वथली कीं पनी में आठ व्यक्ति कथम कर रहे हैं। उनके पदों को अवरोही क्रम में ददयथ गयथ है, 
जसेै कक सीईओको सवोच्च पदऔर तलका को ननम्निम स्र्थन ददयथ गयथ है। बी प्रबींधक है। दो
व्यक्ति A और B के बीच एक पद धथरर् करिे हैं। C और H के बीच चथर से अधधक व्यक्ति पद धथरर्
करिे हैं। C से वररष्ठ व्यक्ति उिने ही हैं क्जिने कक D से कननष्ठ व्यक्ति, जो H से कननष्ठ है। E, F से
कननष्ठ है और जी से वररष्ठ. G तलका  नहीीं है
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Eight persons are working in a company 
with different grade position such as 
CEO, MD, GM, DGM, Senior Manager, 
Manager, Assistant Manager and Clerk. 
Their positions are given in descending 
order, such as CEO as the highest 
position and Clerk as the lowest 
position. B is a manager. Two persons 
are hold a position between A and B. 
More than four person are hold a 
position between C and H. As many 
person senior to C is same as that of 
junior to D who is junior to H. E is junior 
to F and senior to G.G is not clerk.
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What is the grade position of D?
D की गे्रड क्स्र्नि तयथ है?
a) Senior Manager 
b) Clerk SBI 
c) Assistant Manager 
d) Cannot be determined 
e) None of these

How many persons are hold a position between 
B and A? 
B और A के बीच में ककिने व्यक्ति बैठे हैं?
a) One 
b) Four 
c) Three 
d) Two 
e) None of the above 

How many persons have higher grade position than C? 
C से ककिने व्यक्तियों कथ गे्रड पद उच्च है?
a) Two 
b) Four 
c) Three 
d) One 
e) C holds the highest position 

Who is General manager? 
महथप्रबींधक कौन है?
a) C 
b) F 
c) G 
d) D 
e) A
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625 427 189 258 469

What is the sum of the 3rd digit of second number from left and 2nd digit of third 
number from right? बथयें से दसूरी सींख्यथ के िीसरे अींक और दथयें से िीसरी सींख्यथ के 
दसूरे अींक कथ योग तयथ है?
(a) 10 (b) 15 (c) 14 (d) 12 (e) None of these

What is the product of 3rd digit of 2nd lowest number and 1st digit of 2nd highest number? 
दसूरी सबसे छोटी सींख्यथ के िीसरे अींक और दसूरी सबसे बडी सींख्यथ के पहले अींक कथ 
गरु्निल तयथ है?
(a) 32 (b) 72 (c) 24 (d) 36 (e) None of these
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If 2 is subtracted from each number then how many numbers thus formed are odd numbers?
यदद प्रत्येक सींख्यथ में से 2 घटथ ददयथ जथए िो इस प्रकथर बनने वथली ककिनी सींख्यथएाँ पवर्षम 
सींख्यथएाँ होंगी?
(a) One (b) Two (c) Three (d) More than three (e) None

If the position of first and third digits of each of the numbers are interchanged, then which 
among the following is the highest number? यदद प्रत्येक सींख्यथ के पहले और िीसरे अींक के 
स्र्थन को आपस में बदल ददयथ जथए, िो ननम्नमलखिि में से सबसे बडी सींख्यथ कौन सी है?

(a) 258 (b) 469 (c) 189 (d) 427 (e) 625 

625 427 189 258 469
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Eight persons F, G, P, R, M, N, V and T live in eight different floors. Lowermost floor is 
numbered 1, above the floor is numbered 2, and so on till the topmost floor is numbered 
as 8. Each of them is in a different profession. Their professions are Lawyer, Teacher, IAS, 
Student, Doctor, Accountant, Commissioner and Manager. All the above information is not 
necessarily in the same order.
M lives on even numbered floor. The one who is an Accountant lives on the second floor. 
Two persons live between R and the one who is a student. R lives on even numbered floor 
but above M. Three persons live between G and the one who is an IAS. M is not an 
accountant. As many persons living above the one who is a doctor is same as below the 
one who is a student. Only one person lives between T and the one who is a teacher. The 
one who is a lawyer lives immediately below N. As many persons living below N is same as 
above the one who is a teacher. The one who is a commissioner lives immediately above 
M. Neither F nor V is a lawyer. F lives above V.

आठ व्यक्ति F, G, P, R, M, N, V और T आठअलग-अलग मींक्जलों में रहिे हैं। सबसे ननचली मींक्जल की सींख्यथ 1 है, मींक्जल के ऊपर की
सींख्यथ 2 है, और इसी िरह सबसे ऊपरी मींक्जल की सींख्यथ 8 है। उनमें से प्रत्येक एक अलग पेशे में है। उनके पेशे वकील, मशिक, आईएएस, 
छथत्र, डॉतटर, लेिथकथर, आयुतिऔर प्रबींधक हैं। जरूरी नहीीं कक उपरोति सभी जथनकथरी इसी क्रम में हो।
M सम सींख्यथ वथली मींक्जल पर रहिथ है। वह व्यक्ति जो एक लेिथकथर है, दसूरी मींक्जल पर रहिथ है। R और एक छथत्र के बीच दो व्यक्ति
रहिे हैं। R सम सींख्यथ वथली मींक्जल पर रहिथ है लेककन M के ऊपर रहिथ है। G और एक IAS व्यक्ति के बीच िीन व्यक्ति रहिे हैं। M 
लेिथकथर नहीीं है। क्जिने व्यक्ति डॉतटर के ऊपर रहिे हैं, उिने ही छथत्र के नीचे रहने वथले व्यक्ति हैं। T और मशिक के बीच केवल एक
व्यक्ति रहिथ है। वह व्यक्ति जो वकील है, N के ठीक नीचे रहिथ है। N के नीचे रहने वथले क्जिने व्यक्ति मशिक हैं, उिने ही ऊपर रहिे हैं।
वह व्यक्ति जो आयुति है, M के ठीक ऊपर रहिथ है। न िो F और न ही V वकील है। F, V . के ऊपर रहिथ है
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Eight persons F, G, P, R, M, N, V and T live in eight 
different floors. Lowermost floor is numbered 1, 
above the floor is numbered 2, and so on till the 
topmost floor is numbered as 8. Each of them is in a 
different profession. Their professions are Lawyer, 
Teacher, IAS, Student, Doctor, Accountant, 
Commissioner and Manager. All the above 
information is not necessarily in the same order.
M lives on even numbered floor. The one who is an 
Accountant lives on the second floor. Two persons 
live between R and the one who is a student. R lives 
on even numbered floor but above M. Three persons 
live between G and the one who is an IAS. M is not 
an accountant. As many persons living above the 
one who is a doctor is same as below the one who is 
a student. Only one person lives between T and the 
one who is a teacher. The one who is a lawyer lives 
immediately below N. As many persons living below 
N is same as above the one who is a teacher. The 
one who is a commissioner lives immediately above 
M. Neither F nor V is a lawyer. F lives above V.
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Who among the following person is a student?
ननम्नमलखिि में से कौन छथत्र है?
A) F
B) N
C) P
D) V
E) None of these
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Which of the following statement is true?
ननम्नमलखिि में से कौन सथ कर्न सत्य है?
A) The one who is a doctor lives below M
B) Two persons live between F and the one who is a doctor
C) As many persons live above G is same as below P
D) More than three persons live between P and the one who is a 
commissioner
E) Both (c) and (d)
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How many persons live between F and the one who is an IAS?
F और एक IAS व्यक्ति के मध्य ककिने व्यक्ति रहिे हैं?
A) One
B) Two
C) Three
D) Four
E) None of these
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If G is related to commissioner, T is related to Accountant, in the same way, M 
is related to which of the following?
यदद G आयुति से सींबींधधि है, T लेिथकथर से सींबींधधि है, उसी प्रकथर M ननम्नमलखिि 
में से ककससे सींबींधधि है?
A) IAS
B) Teacher
C) Manager
D) Lawyer
E) None of these
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Who among the following person lives immediately below the one who is a doctor?
ननम्नमलखिि में से कौन डॉतटर के ठीक नीचे रहिथ है?
A) M
B) R
C) T
D) V
E) None of these
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A) East B) West

C) South D) Data is inadequate

E) NONE OF THESE

One morning after sunrise, Suresh was standing facing a pole. The 
shadow of the pole fell exactly to his right. To which direction was he 
facing?
एक सुबह सूयोदय के बथद सुरेश एक िम्भे के सथमने िडथ र्थ। िम्भे की 
छथयथ ठीक उसके दथदहनी ओर पडी। उसकथ मुि ककस ददशथ की ओर र्थ?
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Statements:
Only a few Boxes are Book 
All Books are Pens 

Conclusions: 
I. Some Boxes are Pens 
II. All Pen can never be Boxes
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Statement:
Only a few chemicals are pesticides. 
Some pesticides are medicines. 
Some medicines are Computer 

Conclusion: 
I. All chemicals can never be medicines. 
II. At least some chemicals are Computer. 
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